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Q.1 Choose the best substitute for the bracketed segment in the following sentence to
complete the sentence meaningfully.

(No sooner did she shouted), than the thieves ran away leaving all the jewellery on the
table.

Ans 1. No sooner do she shouts
2. No sooner does she shout
3. No sooner had she shout

4. No sooner did she shout

Question ID : 264330144355
Status : Answered
Chosen Option : 4

Q.2 Select the option that expresses the given sentence in active voice.
Mathematical problems are never solved daily by him.

Ans 1. He never solves mathematical problems daily.
2. He has solved never mathematical problems daily.
3. He solve never mathematical problems daily.

4. He solves never mathematical problems daily.

Question ID : 264330151289
Status : Answered
Chosen Option : 1

Q.3 Parts of the following sentence have been given as options. Select the option that
contains an error.

My colleages have lacked the conscience needed to be morally correct on this grave
issue.

Ans 1. conscience
2. colleages
3. morally

4. grave

Question ID : 264330144265
Status : Marked For Review
Chosen Option : 2




Q.4 The following sentence has been split into four segments. Identify the segment that

contains a grammatical error.
When Mayank came, / | shall go / with him to / the circus.

Ans 1. with him to
2. When Mayank came
3. I shall go

4. the circus

Question ID : 264330149475
Status : Answered
Chosen Option : 2

Q.5 Select the most appropriate meaning of the given idiom.
Bite the bullet
Ans 1. To take a risk
2. To enjoy something immensely
3. To endure a painful situation

4. To criticise someone harshly

Question ID : 264330144162
Status : Answered
Chosen Option : 3

Q.6 Select the most appropriate ANTONYM of the given word.

Awkward
Ans 1. Graceful

2. Meaningful
3. Innocent

4. Huge

Question ID : 264330143177
Status : Answered
Chosen Option : 1

Q.7 Select the most appropriate ANTONYM of the underlined word in the given sentence.
On the day of independence, a jubilant crowd from all over the country cheered and

wept.
Ans 1. Triumphant

2. Cryptic
3. Elated

4. Gloomy

Question ID : 264330143223
Status : Answered
Chosen Option : 4




Q.8 Select the most appropriate option that can substitute the underlined words in the
following sentence.

It is raining_alot in April and May, but the summer is very dry.
Ans 1. was raining a lot on

2. will rains a lot of
3. rains a lot in

4. rain a lot at

Question ID : 264330142627
Status : Answered
Chosen Option : 3

Q.9 Select the option that can be used as a one-word substitute for the given group of
words.
A person who conforms to accepted behaviour or established practices.

Ans 1. Psychologist
2. Conformist
3. Socialist

4. Rebelist

Question ID : 264330149844
Status : Answered
Chosen Option : 2

Q.10 Select the most appropriate ANTONYM of the underlined word in the following
sentence.

The fields remained barren despite the efforts of the local administration and
agricultural scientists.

Ans 1. Sterile

2. Unforgiving
3. Damp

4. Fertile

Question ID : 264330148916
Status : Answered
Chosen Option : 4

Q.11 Identity the correct spelling of the underlined word.
It is considered a great phenamina in the field of economics.
Ans 1. phinomina
2. fenomena
3. phynamena

4. phenomena

Question ID : 264330143197
Status : Answered
Chosen Option : 4




Q.12 Select the most appropriate ANTONYM of the given word.
Serendipity
Ans 1. Tangibility
2. Misfortune
3. Permanency

4. Tranquillity

Question ID : 264330148927
Status : Marked For Review
Chosen Option : 4

Q.13 Select the most appropriate ANTONYM of the given word.
Glad

Ans 1. Jive
2. Innocent
3. Sad

4. Haunt

Question ID : 264330143654
Status : Answered
Chosen Option : 3

Q.14 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.
A. It included a carbon tax on fossil fuels and incentives for businesses and
individuals to adopt green practices.
B. The new policy aimed to reduce carbon emissions and promote renewable energy
sources.
C. However, supporters of the policy argued that it was necessary to address the
urgent threat of climate change and create a sustainable future for the planet.
D. The policy faced opposition from some industries and political groups who argued
that it would hurt the economy.

Ans 1. BADC
2. BCAD
3. DABC
4. DACB

Question ID : 264330144203
Status : Answered
Chosen Option : 1

Q.15 Select the option that can be used as a one-word substitute for the underlined
segment.

The music filled the room with a lot of happiness, expressing joyful melodies that
brought smiles to everyone's faces.

Ans 1. surprise
2. joy
3. excitement

4. fear

Question ID : 264330149809
Status : Answered
Chosen Option : 2




Q.16 Select the option that expresses the following sentence in active voice.
A play is being staged by our group this evening.

Ans 1. A play staged our group this evening.

2. Our group stages a play this evening.

3. Our group is staging a play this evening.

4. Our group staged a play this evening.

Question ID : 264330142602
Status : Answered
Chosen Option : 3

Q.17 Select the most appropriate ANTONYM of the given word.

Grave
Ans 1. Native
2. Frivolous
3. Foreign

4. Serious

Question ID : 264330144379
Status : Marked For Review
Chosen Option : 2

Q.18 Select the option that can be used as a one-word substitute for the given group of
words.

The constitutional right to vote
Ans 1. Franchise

2. Polling
3. Voting

4. Buttoning

Question ID : 264330144106
Status : Answered
Chosen Option : 3

Q.19 Select the most appropriate idiom for the given situation.

Aurangzeb, the famous Mughal ruler, found that he had caught someone more
powerful than him in the form of the brave Maratha, Shivaji.

Ans 1. Nipping in the bud
2. Changing the hands
3. Catching a tartar

4. Blazing the trail

Question ID : 264330144119
Status : Answered
Chosen Option : 1




Q.20 Select the most appropriate option that can substitute the underlined segment in the
given sentence.
I don’t think he can dance as wellest Elena.

Ans 1. weller than
2. wellest
3. as well as

4. well than

Question ID : 264330144814
Status : Answered
Chosen Option : 1

Comprehension:

Read the given passage and answer the questions that follow.

Such examples of commercial success, of innovation, drive, vision, determination,
adaptability, and adventure are anchored in the basic Indian openness to, and talent for,
acquiring material wealth. For every success story there are, of course, dozens of failures.
Traditional Indian firms have their strengths, but also their weaknesses, and of these perhaps
the most debilitating are a lack of team work and a weakness for quick profit. These reflect
ingrained ways of thinking and planning, as does the distrust of anyone outside the family,
which inhibits the adoption of modern practices of management. But such weaknesses are
more than compensated for by the desire to succeed, which is probably more intense in India,
given the omnipresent fear of poverty, the cut-throat competition for each opportunity, and the
asphyxiating hold of hierarchy.

SubQuestion No : 21
Q.21 What has the Indian talent for acquiring material wealth led to?
Ans 1. Commercial success, stagnation, innovation

2. Adaptability, quick profit, opportunity
3. Commercial success, innovation, adaptability

4. Determination, team work, adventure

Question ID : 264330149534
Status : Answered
Chosen Option : 2

Comprehension:

Read the given passage and answer the questions that follow.

Such examples of commercial success, of innovation, drive, vision, determination,
adaptability, and adventure are anchored in the basic Indian openness to, and talent for,
acquiring material wealth. For every success story there are, of course, dozens of failures.
Traditional Indian firms have their strengths, but also their weaknesses, and of these perhaps
the most debilitating are a lack of team work and a weakness for quick profit. These reflect
ingrained ways of thinking and planning, as does the distrust of anyone outside the family,
which inhibits the adoption of modern practices of management. But such weaknesses are
more than compensated for by the desire to succeed, which is probably more intense in India,
given the omnipresent fear of poverty, the cut-throat competition for each opportunity, and the
asphyxiating hold of hierarchy.

SubQuestion No : 22
Q.22 What are the weaknesses of traditional Indian firms?
Ans 1. Ingrained ways of thinking and adoption of modern practices of management

2. A weakness for quick profit and the openness to acquiring wealth
3. A lack of team work and the cut-throat competition

4. A lack of team work and a weakness for quick profit

Question ID : 264330149535
Status : Answered
Chosen Option : 4




Comprehension:

Read the given passage and answer the questions that follow.

Such examples of commercial success, of innovation, drive, vision, determination,
adaptability, and adventure are anchored in the basic Indian openness to, and talent for,
acquiring material wealth. For every success story there are, of course, dozens of failures.
Traditional Indian firms have their strengths, but also their weaknesses, and of these perhaps
the most debilitating are a lack of team work and a weakness for quick profit. These reflect
ingrained ways of thinking and planning, as does the distrust of anyone outside the family,
which inhibits the adoption of modern practices of management. But such weaknesses are
more than compensated for by the desire to succeed, which is probably more intense in India,
given the omnipresent fear of poverty, the cut-throat competition for each opportunity, and the
asphynxiating hold of hierarchy.

SubQuestion No : 23
Q.23 Why is the desire to succeed more intense in India?
Ans 1. Due to the hold of hierarchy, fear of poverty, and a lack of team work

2. Due to fear of poverty, a lack of team work and distrust of the outsider
3. Due to cut-throat competition, distrust of the outsider and fear of poverty

4. Due to fear of poverty, cut-throat competition, and the hold of hierarchy

Question ID : 264330149536
Status : Answered
Chosen Option : 4

Comprehension:

Read the given passage and answer the questions that follow.

Such examples of commercial success, of innovation, drive, vision, determination,
adaptability, and adventure are anchored in the basic Indian openness to, and talent for,
acquiring material wealth. For every success story there are, of course, dozens of failures.
Traditional Indian firms have their strengths, but also their weaknesses, and of these perhaps
the most debilitating are a lack of team work and a weakness for quick profit. These reflect
ingrained ways of thinking and planning, as does the distrust of anyone outside the family,
which inhibits the adoption of modern practices of management. But such weaknesses are
more than compensated for by the desire to succeed, which is probably more intense in India,
given the omnipresent fear of poverty, the cut-throat competition for each opportunity, and the
asphynxiating hold of hierarchy.

SubQuestion No : 24

Q.24 Select the most appropriate ANTONYM of the given word with reference to its usage in
the passage.
Debilitating

Ans 1. Enfeebling
2. Crippling
3. Invigorating

4. Undermining

Question ID : 264330149537
Status : Answered
Chosen Option : 3




Comprehension:

Read the given passage and answer the questions that follow.

Such examples of commercial success, of innovation, drive, vision, determination,
adaptability, and adventure are anchored in the basic Indian openness to, and talent for,
acquiring material wealth. For every success story there are, of course, dozens of failures.
Traditional Indian firms have their strengths, but also their weaknesses, and of these perhaps
the most debilitating are a lack of team work and a weakness for quick profit. These reflect
ingrained ways of thinking and planning, as does the distrust of anyone outside the family,
which inhibits the adoption of modern practices of management. But such weaknesses are
more than compensated for by the desire to succeed, which is probably more intense in India,
given the omnipresent fear of poverty, the cut-throat competition for each opportunity, and the
asphynxiating hold of hierarchy.

SubQuestion No : 25

Q.25 Select the most appropriate synonym of the given word with reference to its usage in
the passage.
Asphyxiating

Ans 1. Emancipating
2. Liberating
3. Smothering

4. Unfettering

Question ID : 264330149538
Status : Answered
Chosen Option : 4

Section : General Intelligence

Q.1

Ans 1. 190
2. 191
3. 192
4. 195

Question ID : 264330146329
Status : Answered
Chosen Option : 1




Q.2 Select the set in which the numbers are related in the same way as are the numbers of the following sets.

(NOTE: Operations should be performed on whole numbers, without breaking down the numbers into their
constituent digits. E.g. 13 — Operations on 13 such as adding/subtracting/multiplying, etc. to 13 can be performed.
Breaking down 13 into 1 and 3 and then performing mathematical operations on 1 and 3 is not allowed.)

(162, 9, 18)
(231, 11, 21)

Ans 1. (336, 28, 12)
2. (270, 12, 23)
3. (314, 19, 16
(314,19, 16) Question ID : 264330150850
4. (296, 21, 14) Status : Answered
Chosen Option : 1
Q.3
Ans 1
2.
3. .
Question ID : 264330146666
4. Status : Answered
Chosen Option : 1
Q.4
Ans 1. 145
2.135
3.
120 Question ID : 264330150899
4. 126 Status : Not Answered
Chosen Option : --




Q.5

Ans 1105
2. 109
3. 111
4107
Question ID : 264330152159
Status : Answered
Chosen Option : 2
Q.6
Ans 1.
2.
3.
4.
Question ID : 264330147286
Status : Answered
Chosen Option : 3
Q.7
Ans 1. 8]
2. 75
3. 70
4. 64

Question ID : 264330152183
Status : Answered
Chosen Option : 2




QS8

Ans 1.
2.
3.
4 Question ID : 264330146862
Status : Answered
Chosen Option : 4
Q.9
Ans 1. 74
2. 77
3. 81
4. 79 Question ID : 264330147317
Status : Answered
Chosen Option : 3
Q.10
Ans 1.
2.
3.
4.
Question ID : 264330146613
Status : Answered
Chosen Option : 2
Q.11
Ans 1. 0§
2.
3. 76 Question ID : 264330147379
4. Status : Answered

Chosen Option : 3




Q.12

Ans 1.

Question ID : 264330150991
Status : Answered
Chosen Option : 3

Ans L deed
2. cddc
3. cdcd
4. dedc

blanks below, will complete the letter-series.
_cdd_dd_ddc_

Q.13 Select the option that represents the combination of letters that, when sequentially placed from left to right in the

Question ID : 264330150683
Status : Answered
Chosen Option : 1




Q.14

Ans
& Question ID : 264330147228
Status : Answered
Chosen Option : 1
Q.15
Ans . B3
- lue

Question ID : 264330147446
Status : Answered
Chosen Option : 4




Q.16

Ans

1.
2.
3.
Question ID : 264330146593
4. Status : Answered
Chosen Option : 3
Q.17
Ans 1.
2.
3.
4. Question ID : 264330146970
Status : Answered
Chosen Option : 1
Q.18
Ans 1.3:38
2. 7:354
3.6:212
Question ID : 264330150903
4. 5 : 136 Status : Answered

Chosen Option : 3




Q.19

Ans 1.
2.
3.
4. Question ID : 264330147259
Status : Answered
Chosen Option : 3
Q.20
Ans 1
2.
3.
4.
Question ID : 264330146648
Status : Not Answered
Chosen Option : --
Q.21
Ans 1.
2.
3.
4.
Question ID : 264330147108
Status : Answered
Chosen Option : 1
Q.22
Ans 1L 15-225
2. 19 —-361
3. 9 —-8l1
4 4—-64 Question ID : 264330152121

Status : Answered
Chosen Option : 4




Q.23

Ans

V)

Question ID : 264330146507
Status : Answered
Chosen Option : 4




Q.24

Ans 1. Both conclusions II and III follow

2. Both conclusions I and I follow

3. Only conclusion III follows Question ID : 264330147464
. Status : Answered
4.
Only conclusion II follows Chosen Option : 1
Q.25
Ans 1. 22
2. 30
3. 26
4. 28

Question ID : 264330151079
Status : Answered
Chosen Option : 2

Section : Quantitative Aptitude

Q.1
Ans 1.
2.
3.
4. Question ID : 264330147849

Status : Answered
Chosen Option : 3




Q.2

Ans 1

Question ID : 264330148044
Status : Not Answered
Chosen Option : --

°% The value of (cosec? B-1)(sec? B-1)is:

Ans 1. 4
2. 3
3. 2
4.1
Question ID : 264330147805
Status : Answered
Chosen Option : 4
Q.4
Ans
1 602
41
o
29
3 M
29
4 52
43
Question ID : 264330148215
Status : Answered
Chosen Option : 1
Q.5
Ans 1. 23
2.0
3. 21
4 18 Question ID : 264330146820

Status : Answered
Chosen Option : 3




Q.6

Ans 1 32520
2. 1,050
3. 71,092
4. 3008 Question ID : 264330149417
Status : Answered
Chosen Option : 3
Q.7
A
" 117967 cm?
2. 169.67 cm?
3.189.67 cm?®
4.199.67 cm?
Question ID : 264330148252
Status : Not Answered
Chosen Option : --
Q.8
Ans 1.
2.
3.
4.
Question ID : 264330147645
Status : Answered
Chosen Option : 3
Q.9
Ans 1. B, 6, o]
2. 100. 200, 300
3. 10, 25, 11
4.8,2.6

Question ID : 264330148899
Status : Answered
Chosen Option : 3




Q.10

Ans 1.
2.
3 Question ID : 264330146809
’ Status : Not Answered
4. 0y Chosen Option : --
Q.11
Ans 1.
2.
3.
4,
Question ID : 264330147681
Status : Answered
Chosen Option : 1
Q.12
Ans 1100
2. 90
3105
4. g§ Question ID : 264330149444

Status : Not Answered
Chosen Option : --




Q.13

Ans 1.
2.
3. 19%
4. Question ID : 264330148194
Status : Answered
Chosen Option : 3
Q.14
Ans 1
2.
3.
4 Question ID : 264330147700
Status : Answered
Chosen Option : 2
Q.15
Ans 1.
2.
3. 9§
4.
Question ID : 264330146796
Status : Answered
Chosen Option : 2
Q.16
Ans 1. 50
2. 24
3.
4.,

Question ID : 264330148242
Status : Answered
Chosen Option : 1




Q.17

Ans 1.
2. 26
3. 22
4. 20
Question ID : 264330147953
Status : Answered
Chosen Option : 1
Q.18
Ans L 115 workers
2.
3. 51 workers
4. Question ID : 264330150659
Status : Answered
Chosen Option : 2
Q.19
Ans 1.0
2. 2
3.
4 —1
Question ID : 264330150570
Status : Answered
Chosen Option : 2
Q.20
Ans 1 14
2. 16
3. 7
4. 8

Question ID : 264330150563
Status : Answered
Chosen Option : 3




Q.21

Ans 1. 3
2. 4
3. 6 Question ID : 264330146799

Status : Answered
4.5 Chosen Option : 2
Q.22

Ans 1. F2°
2.
3. Question ID : 264330148433
4 Status : Answered

Chosen Option : 4




Q.23

Ans 4
1. —
5
5
2. —
3
5
3. i
4
3
4. iz
5
Question ID : 264330149993
Status : Answered
Chosen Option : 2
Q.24
Ans
1.
2.
3.
4,
Question ID : 264330147746
Status : Answered
Chosen Option : 3
Q.25
Ans 1
2.
3.
Question ID : 264330147698
4, Status : Not Answered

Chosen Option : --

Section : General Awareness




Q.1

Ans 1.

4. Vijayalaya

Question ID : 264330150208
Status : Answered
Chosen Option : 4

Q.2
Ans L. Shehnai
2.
3. Tabla
4. Sitar
Question ID : 264330148685
Status : Not Answered
Chosen Option : --
Q.3
Ans 1
2.
3.
4.

Question ID : 264330145944
Status : Answered
Chosen Option : 3

Q4 Onam is a state festival of

Ans 1 Gujarat
2. Karnataka
3. Goa
4. Kerala

Question ID : 264330151249
Status : Answered
Chosen Option : 4




Q5

Ans 1.

To maximise the focus on rehabilitation without really caring for resettlement

2.
To integrate rehabilitation concerns into the development planning and implementation process
3.
4.
Question ID : 264330150370
Status : Not Answered
Chosen Option : --
Q.6
Ans 1.
2.
3.
4.
Question ID : 264330150145
Status : Not Answered
Chosen Option : --
Q.7
Ans 1.
2.
3.
4.
Question ID : 264330145682
Status : Answered
Chosen Option : 3
Q.8

ANs 1. Article 38
2. Article 41
3. Article 39
4. Article 40

Question ID : 264330150365
Status : Answered
Chosen Option : 2




Q.9

Ans

1.
2.
3.
4,
Question ID : 264330149353
Status : Answered
Chosen Option : 3
Q.10
Ans 1.
2.
3.
4. Question ID : 264330145691
Status : Answered
Chosen Option : 4
Q.11
Ans 1.
2.
3.
4,
Question ID : 264330145835
Status : Answered
Chosen Option : 2
Q.12
Ans 1.
2. Harleen Deol
3.
4.

Question ID : 264330150080
Status : Not Answered
Chosen Option : --




Q.13

Ans 1. WDF
2. SVAMITVA
3. NRLM
4. PIDF .
Question ID : 264330146111
Status : Answered
Chosen Option : 2
Q.14

Ans 1.
2.
3.
4.

Question ID : 264330144480

Status : Not Answered

Chosen Option : --
Q.15

Ans 1.
2.
3.
4.

Question ID : 264330144666
Status : Answered
Chosen Option : 3

Q.16 Which of the following noble ideals is mentioned in the Preamble of the Indian Constitution?
Ans 1.

3.

4.
Liberty of opportunity, economic, social, faith and expression

Question ID : 264330150352
Status : Answered
Chosen Option : 2




Q.17

Ans L. Arabic
2. Persian
3. Bengali
4 Sanskrit Question ID : 264330150234
Status : Answered
Chosen Option : 3
Q.18
Ans L 16.2%
2. 17.2%
3. 16.7%
4. 17.7%
Question ID : 264330150277
Status : Answered
Chosen Option : 4
Q.19
Ans 1.
2.
3.
4.
Question ID : 264330151262
Status : Answered
Chosen Option : 3
Q.20
Ans 1
2.
3.
4,

Question ID : 264330145685
Status : Answered
Chosen Option : 2




Q.21

Ans 1.
2.
3. 1986
4.
Question ID : 264330146131
Status : Not Answered
Chosen Option : --
Q.22
Ans 1.
2.
3.
4.
Question ID : 264330145982
Status : Answered
Chosen Option : 4
Q.23
Ans 1.
2.
3. Ketti Valley
4,
Question ID : 264330148641
Status : Answered
Chosen Option : 1
Q.24
Ans 1 90.08 m
2. 8844 m
3. 97.02m
4. 89.08 m

Question ID : 264330150071
Status : Answered
Chosen Option : 2




Q-25 Which of the following states receives rainfall during the retreating monsoon?

Ans 1.

2. Gujarat
3. Bihar
4. Tamil Nadu

Question ID : 264330150247
Status : Not Answered
Chosen Option : --
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